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CTE-2 : THE STRUCTURE OF ENGLISH

Time : 2 hours Maximum Marks : 100

Note : Answer all questions.

1. Write short notes on any fwo of the following : -
10+10=20

(a) Given and New information
(b) Suffixes and Prefixes
(e) Cohesion and Coherence

(d) Social dialects

2. (a) Discuss the socio-cultural impact on the

use of English.

(b) What is the role of Indian English in the
Teaching-Learing context in India ?  10+10=20
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3. What is the role of the paragraph in structuring a
text ? Give 2-3 examples to support your
answer.

OR

What are the uses of skimming and scanning in -

effective reading comprehension ? Substantiate

your answer with 2 — 8 examples.

4. (a) Give five verbs that have irregular forms.
" Give all three forms.

(b) Transcribe the following words using
phonetlc symbols :

relieve, ask, fast, catch, surround

(¢) Add a suffix to each of the following words
to make a new word :

honest, sing, quick, happy, host.

(d) Make negative questions of the following :
(i) Do you want to eat an apple ?
(ii) Is everyone coming for the party ?
(iii) Are you going to Australia ?
(iv) Is she your sister ?

(v) She was permitted to go abroad.
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5. (a)

(b)

(9]

CTE-2

Identify the number of syllables in the
following words and mark the primary
stress : 5+5=10

fortunate, demand, believe, founder, deliver

Find the error, if any, and make necessary
corrections to the following sentences : 5

(i) She laugh at everybody.

(i) Mala is very fond with readmg
mystery books.

(1ii) She has broken her watch yesterday.
(iv) She lost bag last week.
(v) Arun does not likes apples.

Complete the following sentences using
who or which : 5

(1) Meera, is from Jaipur, has
won a literary award.

(ii) Two other writers, were
nominated too were very disappointed.

(iii) Meera got T 50,000 as the award,

is a huge sum.

(iv) She plays the guitar in bars,
she really enjoys.

(v) She will celebrate by having a party
is fixed for 9% J uly.
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